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QUESTION 1

Which feature supports sandboxing of zero-day attacks?
A. Sky ATP

B. SSL proxy

C. ALGs

D. high availability

Correct Answer: A

QUESTION 2

Which two session parameters would be used to manage space on the session table? (Choose two.)
A. low watermark

B. high watermark

C. TCP MSS

D. TCP RST

Correct Answer: AB

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-flow-basedsession-for-srx-
series-devices.html

QUESTION 3

Click the Exhibit button.

user@srx> show security flow session
Session ID: 19068, Policy name: trust-to-—untrust/15, Timeout: 1800, Valid
Resource information : FTP ALG, 1, O

In: 172.20.104.10/58479 --> 172.18.1.2/21;tcp, Conn Tag: 0x0, If: ge-0/0/3.0,
Pkts: 42, Bytes: 17956,

cut: 172.18.1.2/21 --> 172.20.104.10/58479;tcp, Conn Tag: Ox0, If: ge-0/0/4.0,
Pkt=: 43, Bytes: 2739,

Which two statements are true about the session shown in the exhibit? (Choose two.)

A. Two security policies are required for bidirectional traffic flow.

Latest INO-334 Dumps | JNO-334 VCE Dumps | JNO-334 Braindumps 213


https://www.passapply.com/jn0-334.html
https://www.passapply.com/jn0-334.html
https://www.passapply.com/jn0-334.html

VCE & PDF https://www.passapply.com/jn0-334.html

2024 Latest passapply JNO-334 PDF and VCE dumps Download

PassApply.com

B. The ALG was enabled by manual configuration.
C. The ALG was enabled by default.
D. One security policy is required for bidirectional traffic flow.

Correct Answer: AB

QUESTION 4

What are two types of collectors for the JATP core engine? (Choose two.)
A. SNMP

B. e-mail

C. Web

D. telemetry

Correct Answer: BC

QUESTION 5

What are two elements of a custom IDP/IPS attack object? (Choose two.)
A. the attack signature

B. the severity of the attack

C. the destination zone

D. the exempt rulebase

Correct Answer: AB
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